DATE
ADDITION WORDS PROBLEMS

Draw a C|rcle to show how you made ten to help you solve the problem.
Example:

John has 6 balls and Mike has 6 balls. How many balls do they have in all?

6 and 6 make 12

10 and 2 make 12

John and Mike have 12 balls in all.

1. There are 7 children standing in one row and 5 children standing in second row.
How many children are standing in both the rows?
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10 and __ make
There are ____ children standing in both the rows.

2. There are 6 chocolates and 7 ice creams on the table. How many chocolates
and ice creams are there in total?
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6and __ make

10 and __ _make

There are chocolates and ice creams in all.
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